Been BRSOk (1) oM F-R4
(1] wEhsy
[E#
BISf (o) DI ARBISLF (x) XZOWTHS LTFOOICAR DD = &0 F'(x) = f(x)
B f () O RERD J f)dx=Fx)+C (CIIBIEL) BESLf (x) DA EFESY
(] ERDDH L%,
AN \ 5
NP IEDHIETZIZ 0D L = andx =— 1xn+1 iy fQERTTHEND,

[FH5IEAN]

1 fkf(x)dx = kff(x)dx (k133E%0) 2 f{f(x) +g(x)}dx = ff(x)dx +fg(x)dx

3 [g@-g@idx= [ fdx- [ g

M1 RORNERDZRD L,

(1 f(3x2__6x-+z)dx (2) f(x-+1)(2x-1)dx (3) lft(3t4—1)dt
=3-%x3—6-%x2+2-x4-c =Jf2x2+x—audx =Jkiﬂ'F?dt
=x3-3x2+2x+C =2-%x3+%x2—x+6 =3-§t3+§t2+C

=§x3+%x2—x+C

deix, t D& LT
D 2 DOFM 2T F (x) 23k X, fﬁ/\#é ) j; e
F'(x) = 3(x — 1)2 - D HJ (ERRAN

() O b @b

2
f(2t+1)dt=t2+t+C

F@)=f3&—1f¢x F)=1-3+3+C=0
14C=0 ThHdnH C=-1

= f(3x2 — 6x + 3)dx

¥ die F(x) =x3—-3x2+3x—-1

f(Zx +1Ddt=Qx+Dt+C
(2x + VITEE & A2727)
L b LITEE,

=x3—-3x%+3x+C

R
(23]
FFX)=fx)LTHLZ
B () Dain B b E TO R j
(252 3E1] ’
b b
1 fkﬂ@m=kjf&wx (k13250

b
f@)dx = [F(x)]§ = F(b) — F(a)

b b b
2 fvm+mmm=ffmm+fmmm
ab ab ab
3 f{ﬂw—mwwx=fﬂww—fgqu
(]
1 f fx)dx=0

b c b

3 f f(x)dx=ff(x)dx+f f(x)dx
d x = x A

4 aifﬂGM=f@) Qﬁ%jfﬂom%xfwﬁﬁé&f@)m@é>

2 Laf(x)dx = —fabf(x)dx

(4@%%)Fﬁj=ﬂ@&?ék[?@ﬂ“ﬂﬂﬂﬁ=ﬂ@—FW) F(a)l 3 /&5

(jfmm>=U%o—mwy=@&D¥{HGY=P@rn=fw>



Bl BTE OESE (2) £ M F-RA

1 ROEFEDZRD &,

1 2
@ [ 30 @ [ @+ He-2dx
0 -1
1 2
=[_lx3 +§x2] =f (x% + 2x — 8)dx
3 2 0 -1 5
1 3 1
:_5.134_5.12_0 =[§x3+x2—8x]
1 3 —249 7 1 !

-5+ 02 - 8-

~(5-12)-(-3+9)

1
= f {(—=x? + 3x) — (2x% — x)}dx =-18
0

1 1
3) f (=x% 4+ 3x)dx — f (2x% — x)dx
0 0

= fl(—3x2 + 4x)dx
= [ix3 + 2x2]}
=(-1342-1)-0=1
12 23X f(x) =4x+ 3folf(t)dt Zei 7o T BEE () 2R K
(%)
Llf(t)dtﬂiiiﬁzf%éb% k=]01f(t)dt ------ O &B<E fx)=4x+3k e @ &b,

1 1
@&V f(t) =4t +3k ZOITfRALT k:f f(t)dt:f (4t + 3k)dt = [2t? + 3kt]s = 2 + 3k
0 0
WxIZ k=2+43k &7V k=-1
@LY fx)=4x-3
RS f FOdt = x> —3x+2 il BIHS () L ERa %KD L,
(i)
EXOMBEXxTHHT5E f(x) =2x-3
526%7‘:%5ﬁ“@x=a&?‘6&] f®)dt =a*—-3a+2
EiDIX0IIZ/R5DT a?—-3a+2=0 (a=1D(@a=-2)=0 k»o»T a=1, 2
Dz f(x)=2x—-3, a=1, 2
ERES & O Hifk
1 aSxsSbO#FEHTf)Z0DL X
y=f)DT T 7 LxlliE L0 2 B fOzZomEx fOsSomnLx
x=a, x=bTHENIESOHEE SIZ
b yA yl
S=f f(x)dx y=f(x) >
a O X

2 asSxsSbOHFHTfx)S0DL =
y=f)DT T 7 Lxlifids L2 Eiff S
x=a, x=bTHENTEHSOmIE SIZ

5= ] (—foNdx = - j ’fodx

=Y




HFED FTE OEME (3) £ F R4
3 asSxsSbOHFHEATIX)Zg)DE = YA =(x—-—a)(x—
y=r(x)

y=f)ey=g@)D7 I 7LV 2 EHRE
x=a, x=bTHIENIHDOEE SIZ

b
= f (F () — g()}dx

B 1
| -6 -pdr=-76-o?

N
TS

x

a s B
EH %R ob 5 BRI T = AR i = f (x — a)(x — B)dx
TEXLEENH D, a
11 RO OEME SERD X,
(1) By =x>+1, Efix=1, x=2, x#l yA f=x?+1

THENTZERD,
(fi%) \

2

= 1
S =f (x? + Ddx = [—x3+x]
1 3 1

1 1
= (523 2)-—(—-13 1)
Q * 30T

8 1 10
=(3+2)-(G+1)=5
(2) Wiy =x%—4, xEh CHEENT-ESY

(fi%)
Z DR & xlih & OIF O xERE T 2
x2—4=00DFETH5D,

x+2)(x=2)=0 XV x=-2, 2
Xl —2=x=2TiX y=S0ThoHIND

= fz{—(xz —4)}dx = [—%Xg + 4X]2
-2
<_%. 2344 2) _ {_é(—zﬁ + 4(—2)}

_ 8+8 <8 8)—32
-3 3 3

-2

-2

(3) 20y =x?—-2x, y=—-x2+3x&
2EMx =1, x =2 THENH»
(fi#)

XE1=sx=2Tix —x2+3x THDHMND
2
= f {(—x? + 3x) — (x? — 2x)}dx
1

x?—2x =

2 2 5
= f (—2x2 + 5x)dx = [——x3 += xz]
1 3 1

2 5 2 5
.34 .92 ) _ (.13 4+ 2.12
(52ey2)-(-5 145 7)

16 2 5
~S+10-(=5+2)

=Y

=Y

24 oFIH
2

S =-— 2 -4)d
f_z(x )dx

2
—f (x+2)(x —2)dx
= —[——{2—( 2y

3_

1
6 3




WET FTE MEE (4) £ M8 &

K4

M2 WOMMGEIXER CHENZKEOEME SERD X,
(1) gy =x?-1, Effy=x+1 THENZEHD,
(fi#)

x2-1=x+1 t35& x2-x-2=0
x+DXx-2)=0 &Y x=-1, 2
Kb HHEME ST

2
s =f ((c+1) = (2 — D}dx
-1

2
= f (=x? +x + 2)dx
-1

1 1
= [——x3 +=x% 4+ Zx]

N4 DOFIH
2

s =f ((x+1) = (% — D}dx
-1

2
=f (—x% + x + 2)dx
=—f (x+1D(x—2)dx

= —[-g2- 0]

_

3 2 1 1 s
1 "6
— __.o3 .92
=3 24+ 22 422 _9
1 2
- f—gq—m Fo (=124 2(—1)}
8+6 (1+1 2)_ 1_9
3 32 - )
2) 20 y=x%—2x, y=—x%+4 CHENZES,
(fik)
x2—2x=—x*+4 LT HLEHLTx2-—x-2=0 IA3% 4 OFIH

x+1D)x-2)=0 WZiZT x=-1, 2
Kb HHEE ST

2
S = f {(—x? +4) — (x? — 2x)}dx
-1

2

= f (—2x2 + 2x + 4)dx
-1

2

2
= [——x3 +x% + 4x]
3 -1

2
S = f (=% + 4) — (x? — 220)}dx
v
= f (—2x% + 2x + 4)dx
"
= —Zf (x+ D(x—2)dx
o
= —2|-z2- DY
2
.33

:—§J3+ﬂ+4-2 -
{20+ D2 4 4]

_ 16 2 _

_—?+12—(§—3)_9

M3 B y=x3+x2—2x L x#iCHENT 2 DO ZOEBEDOZRD L,

(fi#)
3+xt-2x=0&925L REESHMLT x(x+2)(x-1)=0

Pzl x=-2, 0,1 72DT yA
K j: 3 2
*??ﬁ;?ﬁ@jm fl{ , , . \§§y=x +x% —2x

(x® +x° —2x)dx + —(x° +x°—2x)}dx \\
— _124 1 3 20 01 4 1 3 21 \\\E\\\\\\ii\\
=[3+ 1+§x ‘xl]_2+[‘zx 3" +1x | 1 N\ s
e L G O 1§ R G TR AR SR ER R 1) R M N /T *
8 1.1 1_z_l+1_28—3+12_§
=373 3tz 1= 12 T 12




BET FHTE MEE (5) £ M F-RA

3
A 4 ﬁ%ﬁjﬁﬂx-mux%mw;o
0

(fi#) = |x(x — 2)|

f)=x(x-2)t7% A

x(x=2)=0%&,325L x=0, 2

0SxS20LXfX)SE072DT, |f()]=—x(x—-2)=—x?>+2x \y=x x-2) i

2SXxS3DLEFX)Z02DT, |f()] =x(x—2) =x?—2x i

Rb % ER D IE ’
y=—x(x-2)

3 2 3
f lx(x — 2)|dx = f (—x? + 2x)dx + f (x? — 2x)dx
0 0 2

3

1 2 n
[4eto] =] :
- __.23 22)_0 <__33_32)
( 3 + + 3

8 16 8 !
—§+4+0—§+4=—?+8=§

F(x)=f(x) DL x
B
ff@wx=W@H§=Hm—FMYF%6ﬁ,

WOEIITHLHETZ D,
(1)

f (ax? + bx + c)dx )
f (x? + 3x + 2)dx

B
—af 2dx+bf xdx+cf dx ‘11 3 5
T I * = [—x3 +-x% 4+ Zx]
B 3 2 -1
—a[3 ] +b[2 ] + c[x]y 1 3
=328 - (=D +5(2°
b 9 9
a b 9 9
=3B -aN+5 B —a) +c(B-a) —27
3 2 57
COFECOHENAENEE L H S, 2

- (=D} +2{2- (-1}

IS fu—mw mw-——w )?
(ZER)

1 2
= — — — 2 — 2
f(x—a)(x—ﬁ)dx 6(13 a)(—B* + 2fa — a?)
v =——(B-a)?
= f {x? = (a + B)x + aB}dx 6
1 B
=[1x3—1(a+ﬁ)x2+aﬁx] ZOARIT, 2 OB EITERT
13 ? 1 * HENZHFOHEE L RO HEBEIC
=§(ﬁ3—a3)—§(a+ﬁ)(ﬁ2—a2)+aﬁ(ﬁ—a) FATE%,

(\_ @,—422

2 3 6
=gw—aXW+ﬁa+a%—gw—aXﬁ+wz+?ww—a) 4y
= %(B —a){2(B? + Ba + a?) = 3(B + a)? + 6afB}

7Y v O Y ERT)
% (3) f1D(2)

’fﬁﬁa\ﬁ‘: (4) B 20M)(2)




